17| £UASHZHAAT|Z) 20081 22 19~202

IV 20073~20084 2714 4euH

=25 20084 28 20084 1€ 20074 12¢ 20074 11
=g TH(E) [7HE(HE) | 2(E) |[HA(HE) | £B(E) |7HH(H2) | () |7HA(HE)
o= 1,892 | 2,541 | 2,601 | 3,588 | 1,806 | 2,602| 3,489 | 4,968
Ef=
=l 1,815 | 4,034 2,341 5,032 1,409 | 2,888 | 1,628 | 3,396
Z2A
sF
diot= 284 654 134 294 259 590 116 254
a7 3,991 | 7,229 | 5076 | 8,914 | 3,474 | 6,080| 5,233 | 8,618

UV 20054 12 ~ 20084 22

== 20054 20063 20074 20084

2 AY(E) | JAEE) | ABE) | HAED) | AE) [HHED) | 2(E) | HA(HED)
18 4,680 9,153 | 1,659 | 2,082| 2,975| 4,832 5,076 8,914
2 2,307 | 4,675 3,017 | 3,658 2,717 | 4,326 3,991 7,229
3= 4,786 | 10,202 5,112 | 4,868| 2,664 | 4,056

48 2,883 | 5,830 | 5,838 5,177 2,830 | 4,409

52 2,828 | 5,659 | 7,883 6,761 3,216 | 5,265

6= 3,734 | 6,852 | 7,837 | 7,284| 3,572 | 5,533

73 9,307 | 14,813 | 4,453 5,213 | 2,533 | 4,295

8= 8,684 | 13,895 | 4,094 6,151 2,951 | 5,068

9 5,952 | 9,508 | 4,762 7,142 | 2,206 | 3,963

10 4,376 7,116 | 5,937 8,725 | 3,439 6,175

11 2,247 4861 | 4,245| 6,584| 5,233 | 8,618

12& 980 1,709 4,115 6,267 | 3,474 | 6,080

A 52,764 | 94,273 | 58,852 | 69,912 | 37,810 | 62,620 9,067 | 16,143
E=kShy 4,397 | 7,856 | 4,904 | 5,826 3,151 5,218 4,534 | 8,072
HAMH| | 222.4% |228.6% | 111.5% | 74.2% | 64.2% | 89.6% |159.3% | 176.3%
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